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BEANRK SFN6EERIBZ S B ERE RS KA ER T EEIR)

£ b g - BAKTR Bify H =2 B * & I

EEIEZE 92,478,034
[(BERmTEXE] 92,478,034
HET 92,478,034
EREAT 92,478,034
EiER 92,478,034
1T 8BAHRA [%RE] #F (5~100kg)  /KZFE10mK s 5,794.00 15, 961 92, 478, 034

m3
HEREE FEL) 4,339, 703
HEREE 4,339, 703
HBEREE 4,339, 703
EXRBEXRLEERE 1,969, 201
KEEHLE 1,969, 201
2 BEMLEERTFERE ) BEEHRRE  FABLEETR) 1.00 639, 936 639, 936

%
3 FAMLERTEE(2) KepBE#HERE  FABLEEEIR) 1.00 99, 990 99, 990

%
4 5N IERRAE R [ ] 1.00 1,229,275 1,229, 275

=




BEANRK SFN6EERIBZ S B ERE RS KA ER T EEIR)

£ R R - KT Bifr % 2 ] ® % W=
ZeE 2,167,902
RERK 1,736, 672
5 RLEERM [7%R9) FRP D 180PSE! ThZ8msM 2%£/H 1.00 1,736, 672 1,736, 672
%
EH 369, 154
6 KTRRHRFER €3i5)| 1.00 369, 154 369, 154
%
& 62,076
1T REYER FREWI T VR - £7 - 8KkB 1.00 62,076 62,076
=
HitTEBE 202, 600
HitiE® 202, 600
8 HifiERE EIXENE HREDRNAZE 1.00 202, 600 202, 600
%




HHCFERITZERBERIFRE SR AMER THEIR)

2 # 1B - MR B g i & # =
EREIEE 92, 478, 034
MEIEHE 11,073,790 + 25,225, 224 36,299,014
HEREE GDH 4,339,703 + 6,120,180 + 613,907 11,073,790
HBEREE (BE) 4,339,703
HBREE ((F ) 94,447,235 x 6.48% ((4.85% x1.00 +1.50%) x 1.02) 6,120, 180
RSRERER 94,447,235 x 0.65% 613, 907
RisEHEA 103,551,824 x 24.36% ((22.65% +1.00%) x 1.03) 25,225,224
TERd 92,478,034 + 36,299,014 128,777, 048
—REERF 128,777,048 x 16.55% (16.55% x 1.00) — 1,159 21,311, 442
LHIRIE 128,777,048 x 0.04% 51,510
TSl 128,777,048 + 21,311,442 + 51,510 150, 140, 000
HEREELE 150, 140,000 x 10.00% 15,014, 000
FRISH 150, 140, 000 + 15, 014, 000 165, 154, 000




Rtz -/ \v7r—o

THOFERBERRFERHETEXEMAMERTEGIR)

&5 1
L BEERA [RE)] #5 (5~100kg)  KFE10mEKH 1000m3 &Y
2 b g - BIRTE BA{T H = B i ® B = " =
Ba 5~100kg/{&
m3 1,300. 00 12, 000. 00 15, 600, 000
Bkt D 270PS%E! 3~5tfHm
=] 1.38 204, 304. 00 281,939 8H
MR EEDY%
% 0.50 15, 881, 939. 00 79, 409
& B YEZERES : 1,000.00m 3 15, 961. 00 15, 961, 348
E5 .2
&% FABLERTEE() ELEHRAR EEMLE(ETR) 14y
2 b g - BIRTE BA{T H = B i ® = " =
BB LR SR BELEESREERSHY) 1000~1500m3Fk
i =] 12.00 53, 328. 00 639, 936
& Hi 1E¥REH 1,00 639, 936. 00 639, 936
#H5:3
¥ FABLERTEE(2) KPEHRAR EEMLLIE (BE) 14y
2 b g - BIRTE BA{T H = B i ® = " =
BB LS iR K EHE AR (EERMOBEEZ/MHT) 100~
500m k& =] 1.00 99, 990. 00 99,990
& Hi 1EZREH 1,00 99, 990. 00 99,990
BS54
&% BAEMLEREAEE  [RE) 14y
2 b g - BIRTE BA{T H = B i ® = " =
5| fia £HMD 300PSEY
=] 8.00 152, 895. 00 1,223,160 4.00H / 8H
MR 2 NOY
% 0.50 1,223, 160. 00 6,115
& B 1E¥REH 1,00 1,229, 275. 00 1,229,275




Rtz -/ \v7r—o

THOFERBERRFERHETEXEMAMERTEGIR)

EH5 .5
£ REEEM  [7RAI] FRP D 180PSE! ZhESH:R 2&/H I
2 b g - BIRTE BA{T H = B i % B = " =
ZEEEMm FRP D 180PS%Y
=] 16. 00 108, 002. 00 1,728,032 6.00H / 8H
MR 2 NOY
% 0.50 1,728, 032. 00 8, 640
& B 1EEREH 1,00 1,736, 672. 00 1,736,672
ES .6
B KTIEEHEHEE [RM) I
2 b g - BIRTE BA{T H = B i -] = " =
KTiFAE FE12cd 10-PE!, CB-100%!
= 1.00 351, 576. 00 351,576
HERE EBHEOY
% 5.00 351, 576. 00 17,578
& Hi 1E¥REH 1,00 369, 154. 00 369, 154
&5 .1
% REMEE REWII VX - W - EKEB I
2 b g - BIRTE BA{T H = B i L] = " =
REEMER
=] 6. 00 10, 346. 00 62,076
& Hi 1EZREH 1,00 62,076. 00 62,076
5.8
£ BIEEE RIXERE HREIMAZE I
2 b g - BIRTE BA{T H = B i L] = " =
MEIRERAE EBT (RHMEA)
“ 1.00 102, 600. 00 102, 600
IE 1.00 100, 000. 00 100, 000
& Hi 1E¥REH 1,00 202, 600. 00 202, 600




